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This questien paper has 2 Sections. Section A is compulsory for all examinees.
Section B is meant only for those examinees who have not offered computerised

accounts (apphcable for students of regular colleges) Students of SOL have

to attempt Sectlon A and Section B. Section A and Section B are

7 to be answered on separate Answer-books.
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Attempt All questions. Use of simple calculator is. allowed.

Workings shall form part of yoﬁr answer.
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SECTION A

Gl )
State with reasons whether the following statements are True or False 7
(i) Advance taken from .a customer is taken as income or sales.
(@) Periodic inventory gives a continuous balance of stock in hand.
(#7i)) Depreciation has to be provided even in casg of loss in a financial vear.
(v) IFRS have been issued by Institute of Chartered Accountants of India (ICAI).
(v) Credit sale of machinery should be recorded in the sales book.
(vi) Heavy advertising expenditure to introduce a new product is revenue expenditure.

(vii) Income is a source of capital.
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From the following Trial Balance and information, prepare Trading and Profit and Loss
Account of Mr. Ajit for the year ended 31st March, 2014 and a Balance Sheet as

on that date :

Particulars | . Dr, (Rs.) Cr. (Rs)
Capital ©1,00,000
Drawings 12,000
Land and Building 90,000
Plant and Machinery 20,000
Furniture 5,000
Sales 1,40,000
Return outward 6,000

P.T.O.



Debtors

Loan from Atal on 1-7-2013 @ 6% pa.

Purchases

Returns inward

Carriage

Sundry Expenses

Printing and Stationery

Insurance .Expenses

Provision for Bad and Doubtful Debts
Provision for Discount on Debtors
Bad Debts

Opening Stock on 1-4-2013
Salaries and Wages

Creditors

Trade Expenses

Cash at Bank

Cash in Hand

18,400

80,000
5,000
10,000
600
500

1,000

400
21,300

18,500

800
4,600

1,280

2,89,380

57717

30,000

1,000

380

12,000

2,89,380
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Additional Information :

() Value of closing stock on 31-03-2014 was Rs. 27,300.

(i) Fire occurred on 23rd March, 2014 and Rs. 10,000 worth of general goods
were destroyed. The insurance company accepted claim for Rs. 6,000 only and
paid the claim money on 10th April, 2014..

(i) Bad debts amounting to Rs. 400 are to be written off. Provision for bad and
doubtful debts is to be made at 5% and. for discount at 2% on debtors. Make
a provision of 2% of creditors for discount.

(iv) Received Rs. 6,000 worth of goods on 27th March, 2014 but the Invoice of
purchases was not recorded in Purchase Book.

(v) Ajit took away goods worth Rs. 2,000 for personal use but no record was
made thereof.

(vi) Charge depreciation at 2% on land and buildixig, 20% on plant and machinery
and 5% on furniture.

(vii) Insurance pfepaid amounts to Rs. 200. 12

P.T.O.
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12,000

2,89,380
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Income and Expenditure Account of a club as on 31st March, 2014 is given to

you :
Expenditure ' | Rs. | Income | Rs
Salaries 2,35,000 Subscriptiops | ) 2,20,000
Diet Expenses 20,000 | Donations | 40,000
Rent and Rates 5,000 | Interest on Investment
Insurance . 2,000| for full year @ 5% p.a. 90,000
Office Expenses 8,000 Miscellaneous Receipts 6,000
Surgery and Dispensary

Expenses 10,000
Depreciation :

Building 37,500

Furniture 1,200

Instruments 8,000 | 46,700
Surplus of Income over Exp. 29,300

3,56,000 m




The other information supplied to you are as under :

5777

31-12-2012 31-12-2013

Rs. Rs.

Cash in hand 2,000 1,500
Cash at bank 54,000 ?
Building 7,50,000 ?
Furniture 20,000 ?
Instruments 35,000 ?
Sgbscription outstanding 15,000 45,000
Subscription rgceived in advance 6,000 8,000
Salaries outstanding 18,000 20,000

Instruments purchased during the year were Rs. 5,000.

You are required to prepare the Receipts and Payments Account of the Hospital for

the year ended December, 2013 and the Balance Sheet as on that .date. Submit your

working cleatly.

12
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31-12-2012 31-12-2013

T %.

Iwg w9 ° 2,000 1,500
5 4 Asws 54,000 ?
e 7,50,000 ?
AT 20,000 ?
ST 35,000 ?
qHE T 15,000 45,000
g Trlt W gem 6,000 8,000

qqT TR 18,000 20,000

T a9 5000 T F SURW W] T

qE REWR 2013 W WEW gu o % fu oreme w wiwe oK emmEfE
F S AN T A Gw W qETT PR e ¥ feEe @ g e

H IYE FEC

P.T.O.



( 12 ) 5777

(@) Explain the limitations of financial statements from incomplete records. 3
(b)) Mr. Sachin keeps his books on single entry and provides you with the following

information : 9

31st Dec., 2012  31st Dec., 2013

Fumniture and Fitting 50,000 60,006
Stock 30,000 10,000
Sundry Debtors 60,000 70,000
Sundry Creditors 20,0@0 : NIL
Prepaid expenses NIL 2,000
Outstanding expenses 6,000 10,000
Cash in hand 11,000 3,000

Receipts and Payments in 2013 :

Receipts from Debtors 2,10,000
Paid to Creditors 1,00,000
Cartage 20,000
Drawings 1,20,000
Sundry expenses 1,60,000
~ Furniture purchased for Cash 10,000

Prepare Trading and Profit & Loss Account for the year ended 31st December,

2013 after providing for bad debts at 10% and Balance Sheet on that date.
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(3rra)

XYZ Ltd. purchased on 1st January 2009, certain machinery for Rs. 1,94,000 and

spent Rs. 6,000 on its erection. On Ist July 2009, additional machinery costing

Rs. 1,00,000 was purchased. On 1st July 2011, the machinery purchased on 1st

January 2009 has been auctioned for Rs. 1,00,000 and on the same date, new

machinery was purchased at a cost of Rs. 1,50,000. Depreciation was provided annually

on 31st December at the rate of 10% p.a. on the original cost. No depreciation need

be charged during the year of sale of machinery for that part of the year when the

machine was used. In 2013, however the company has changed the method of

depreciation to written down value method at the rate of 15% pa. from the straight

line method. Show the machinery account for the period from 2009 to 2013. 12
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4. (@) How will you deal with loss of stock’ under Stock and Debtors System ? 3

(b)

Vaani Co. Delhi has a branch at Kolkata. It invoices goods to the branch at

selling price which is cost plus 33%%. From the following partiéulars, prepare

Branch Account at invoice price.. Show also Branch Debtors. Account and Goods

sent to Branch Account in the books of Vaani Co. Delhi :

Stock on 1st April, 2013 (inyoiqé price)
Debtors on 'lst April, 2013
Goods invoiced to branch during the year at invoice price
Sale at branch :
Cash 31,000

Credit _ - 37,400

Cash received from debtors

Discount allowed to customers

Bad debts written off -

Cheque sent' to branch :
Salaries | 5,000
Sundry expenses i,700

Stock on 31st March, 2014 (invoice price)

15,000

11,400

67,000

68,400

40,000
300

250

6,700

13,400
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(3tga)
A company with its Head Office at Delhi has a Branch at Agra. Goods are invoiced
to the branch at cost plus 33%% which is the selling price. The following information

is given in respec{ of the branch for the year ended 31st March, 2014 :

Goods sent to branch during the year at invoice price 4,80,000
Stock on 1Ist April, 2013 (invoice price) 24,000
Cash Sales 1,80,000
Returns from customers 6,000
Branch expenses paid for cash 53,500
Branch debtors baiance»('l-4-2013) 30,000
Discount allowed 1,000
Bad debts 1,500
Stock on 31st March, 2014 (invoice price) 48,000

Branch debtors balance (31-3-2014) 36,500
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Collections " from Debtors 2,70,000
Branch debtors’ cheque returned dishonoured 5,000
You are required to ascertain the Profit made by the Branch by preparing the
necessary accounts under the Branch Adjustment Method. 12
w wur, fee YU sRieE et § % #1 T v srW # ¥ AW
# 331y Sewm of TR (IF fawEa FW Y W oS W@ WO
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el | At 6,000
Twg few wmen & @@= 53,500
W@ % IR W WY (1-4-2013) 30,000
wg1 fear T 1,000
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e =/ 1,500
31 W 2014 H WIE (A9E FiAa) 48,000
W & TRA H IE (31-3-2014) 36,500
ARR ¥ wwb@ R - 2,70,000
IE F IRA & U6 FEFd & F @@ R 5,000
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Y @ OFE T
(@) Discuss briefly the perpetual and periodical systems of stock taking. 3
(b) From the following data, calculate the value of closing inventory according to FIFO

and Weighted Average Method on March 31, 2014 using perpetual inventory

system :

‘March 1 Stock in hand 400 units @ Rs. 7.50 each
Purchases :

March 5 600 units @ Rs. 8 each

Ma‘rch' 15 500 units @ Rs. 9 each

March 25 400 units @ Rs. 8.50 each

March 30 300 units @ Rs. 9.50 each



Issues :
March 3
March 10
March 17
March 26
March 31

March 31
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300 units
500 units
400 units
500 units
100 units

100 units (shortage) 9
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(@) What is Hire-Purchase Trading Account ? How is it prepared ? 3

(b) Saksham Ltd. sold three cars for a total cash price of Rs. 9,00,000 on hire-
purchase basis to Mr. Vardaan on 1st January, 2010. The terms of agreement
provided for Rs. 2,70,000 as cash down and the balance of the cash price in
three equal instalments together with interest at 10% p.a. The instalments were

payable at the end of each year. Mr. Vardaan paid the first instalment on time
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but failed to pay thereafter. On his failure to pay the second instalment, Saksham
Ltd. repossessed two cars and valued them at 50% of the cash price. Mr.
Vardaan chérges 25% p.a. depreciation on written down value method. Prepare
necessary ledger accounts in the books of both the parties. 9
(%)m—@ﬂawww@m%?%ﬁﬁmmm%?
(@) wam fofe ¥ 4 ®R F@ 900,000 & TR I W HUE-E{E AR
W ] S 2010 W OFRER WM ® A FR R WA A 270,000 .
T e 2 R IW 9W weR W fewd # 10% ¥R oo =S w
qa W W wwe @ B ww o # o d gl fe T
Y uoq fEE W@ W 2 9 W IR 9% W fRR W % wEn g
frw o W W W R e e 3 A FR W om onn @ fe
@Tm»m¢50%mmqwmm|ﬁwm@ﬁmw
fafy @ MR W 25% R 98 geme o g1 dA WiEd & e

¥ oowEs @R o@ WR RS

P.T.O.



( 24

)

Section B

(W ‘=)

5771

. - A, B, C and D are partners in a firm sharing profits and losses in the ratio of

4. :1:2 : 3 The following is their balance sheet as at 31st March, 2014 :

Liabilities Amount | Assets ‘Amount
Rs. Rs.
Sundry Creditors 3,00,000 | Sundry Debtors 3,50,000
Capital A/c : Less : Provision for bad debts 50,000
A 7,00,000 3,00,000
D 3,00,000 | Stock 2,00,000
Cash in hand 1,40,000
Other Assets 3,10,000
Capital A/c :
B 2,00,000
C 1,50,000 3,50,000
13,00,000 [ 13,00,000
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The firm is dissolved on the following terms :
() A is to take over sundry debtors at 80% of book value.
(i) D is to take over stock at 95% of the book value.
(i) C is to discharge Sundry Creditors.
(iv) Other assets realize Rs. 3,00,000 and expenses of realization come to

Rs. 30,000.

(v) B is found insolvent and Rs. 21,900 is realized from -his estate.
Prepare Realisation A/c and Capital Accounts of the partners. Show alsq the Cash
Alc. The loss arising out of capital deficiency may be distributed following the decision
in Garner Vs. Murray case. 20
A,B,cﬁRD@mﬁﬁ%@m%ﬁr{é4:1:2:3eﬁa§mﬁﬁ
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A 7,00,000 3,00,000
D 3,00,000 | =i 2,00,000
Iwe g ¥ 1,40,000
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It '

B & 2,00,000
C & 1,50,000 3,50,000
13,00,000 13,00,000
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(v) ¥ WREERrEl ¥ 3,00,000 F. T T AR TR FW H @ 30,000 T
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(e
(@ Explain the Gamer Vs. Murray Rule with the help of an example. 10
(b) What is meant by Piecemeal Distribution of cash ? Explain maximum loss method
of piecemeal distribution with the help of an example. 10
(%) TR F WEg ¥ TR sm W fEm w e s
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